
Puissances de Dix (E)

49 ÷ 1 = 42 ÷ 1 =
49 ÷ 10 = 42 ÷ 10 =
49 ÷ 100 = 42 ÷ 100 =
49 ÷ = 42 ÷ =
49 ÷ = 42 ÷ =

41 ÷ 1 = 43 ÷ 1 =
41 ÷ 10 = 43 ÷ 10 =
41 ÷ 100 = 43 ÷ 100 =
41 ÷ = 43 ÷ =
41 ÷ = 43 ÷ =

40 ÷ 1 = 33 ÷ 1 =
40 ÷ 10 = 33 ÷ 10 =
40 ÷ 100 = 33 ÷ 100 =
40 ÷ = 33 ÷ =
40 ÷ = 33 ÷ =

12 ÷ 1 = 35 ÷ 1 =
12 ÷ 10 = 35 ÷ 10 =
12 ÷ 100 = 35 ÷ 100 =
12 ÷ = 35 ÷ =
12 ÷ = 35 ÷ =

76 ÷ 1 = ÷ 1 =
76 ÷ 10 = ÷ 10 =
76 ÷ 100 = ÷ 100 =
76 ÷ = ÷ =
76 ÷ = ÷ =
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Puissances de Dix (E) Solutions

49 ÷ 1 = 49 42 ÷ 1 = 42
49 ÷ 10 = 4,9 42 ÷ 10 = 4,2
49 ÷ 100 = 0,49 42 ÷ 100 = 0,42
49 ÷ = 0,049 42 ÷ = 0,042
49 ÷ = 0,0049 42 ÷ = 0,0042

41 ÷ 1 = 41 43 ÷ 1 = 43
41 ÷ 10 = 4,1 43 ÷ 10 = 4,3
41 ÷ 100 = 0,41 43 ÷ 100 = 0,43
41 ÷ = 0,041 43 ÷ = 0,043
41 ÷ = 0,0041 43 ÷ = 0,0043

40 ÷ 1 = 40 33 ÷ 1 = 33
40 ÷ 10 = 4 33 ÷ 10 = 3,3
40 ÷ 100 = 0,4 33 ÷ 100 = 0,33
40 ÷ = 0,04 33 ÷ = 0,033
40 ÷ = 0,004 33 ÷ = 0,0033

12 ÷ 1 = 12 35 ÷ 1 = 35
12 ÷ 10 = 1,2 35 ÷ 10 = 3,5
12 ÷ 100 = 0,12 35 ÷ 100 = 0,35
12 ÷ = 0,012 35 ÷ = 0,035
12 ÷ = 0,0012 35 ÷ = 0,0035

76 ÷ 1 = 76 ÷ 1 =
76 ÷ 10 = 7,6 ÷ 10 = 589,6
76 ÷ 100 = 0,76 ÷ 100 = 58,96
76 ÷ = 0,076 ÷ = 5,896
76 ÷ = 0,0076 ÷ = 0,5896
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